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i) ot geT sfAard &
i) 77 P9p 195 & TGgTo TeR & 5T §
iii) w7 PHE 6 & 26 # paiw fAwey R4 14 &/
iv) el aeg® & T8 W= U9 TEied A7 §93d )
Instructions :
i) All questions are compulsory.
ii) Question No. 1 to 5 are objective type questions.
iii) Internal options are given in question number 6 to 26.
iv) Draw neat and clean labelled diagrams wherever required.

1. w8 fasey g Avh SoR-gRasr 4 fafEe :
Choose the correct option and write it in your answer book :

a,

b_qg

i) e a, b, ¢ o ¥ AP a;x+byy + ¢, =0 W

a, )

a,x+by,y+c¢,=0.

a) ¥ A T BN b) & H1§ g9 & AW
c) & IJAIE INE FA BN d) &1 sfgdha g #rm

[1x5= 5]

: b, ¢ )
When — = —*=—" then the system of equations a,x + b,y + ¢, =0 and

a; by ¢
a,Xx+byy+¢c, =0

a) Has two solutions b) Has no solution
c) Has infinitely many solutions d) Hasunique solution
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i) Wi 3x+ 2y =7 H AR y=28 @ x & 7= fafag

1ii)

a) 1 by 2
c) -1 | d 3
In equation 3x + 2y =7, if y = 2 then, write the value of x.
a) 1 b) 2
c) -1 d) 3

Ff whexer x>-Tx-5=0 1 fafdgaex &

a) 17 b) 69

c) 29 d) 20

The discriminant of the quadratic equation x — 7x —5=0is
a) 17 b) 69

c). 29 d) 20

it of g &

a) waiTaH - b) wu=

c) HHEYU d) Suiew |l
All squares are

a) Congruent b) Equal

¢) Similar  d) Alloftheabove

fodt =p wgds & W@ ol B AT EEr §

a) 360° b) 90°

c) 180° d) 270°

The sum of pairs of opposite angles of a cyclic quadrilateral is
a) 360° b) 90°

c) 180° d) 270°
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2. Freafafaa & ao /s fafag [1x5= 5]
Write True/False in the following :
i) Ao @o® x*+3Jx —4 98U 8 B
Algebraic expression x? + 34/x — 4 is not a polynomial.
i) WOy oY IT|EH R T
Property tax is an indirect tax.

i) o ¥ TEfg ¥ g9 ¥ B RerEet Yeavs o w aE
2l € | MPBOARDONLINE.COM

The line joining the centre of a circle to the mid point of a chord is
perpendicular to the chord.

iv) T W A = o x deE x $ars |
Volume of cuboid = Length x Breadth x Height.
v) Frefafaa deel &1 ages 2
2,3,4,2,12,9,7,8,9,6,9,5,9.
2 is the mode of the following observations :

2,3,4,2,12,9,7,8,9,6,9,3,9.

3. Rea wm= @1 gfid «ifsg [1x5= 5]
Fill in the blanks :

i) 8, 12 FT AU gl

Third proportional of 8, 12 is

- L)
ii) @glyg Msem = JeEe x(1+ﬁ) .

- Time
Compound amount = Principle X (l + ﬁ]

3 : (P.T.O.)
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iii) wabre™ el B
Congruent figures are

i) T R g A D e g B b W R g8 W @, @ ¥ e
2 &)

If two chords of a circle are equidistant from the centre of the circle then they

are to each other.

V) ol PR e # wfvwa Wt o ¥

The probability of any sure event is always

4. TAT & UH WS /949 ¥ gox fafEw [1x5= 5]

Write the answer in one word/sentence of each :

i) x—-}lzmru’lw;rﬁm’mﬁrn

.. 1.
Additive inverse of X —— is
X

i) & T # HR 5 JA. L O IHST ITAT FT BN ?

The edge of a cube is 5 cm. What will be its volume ?

iv) I @7 W0, 99 ERT Hw OX a1 Hor AR PBrowr ¥ e @ €

The relation between arc of the circle, angle subtended by the arc at the centre
andradiusis MPBOARDONLINE.COM

v) 99 ST 5y wed 7 ?
Define Angle of Elevation.



5. @& gy 9IS
()
i) sin%45° + cos?45°

i) cot(90°—0)

ii1) cosBcos(90° — 8) — sin Osin(90° — 6)

iv) 1+ cot?@

V) cos30°

Match the correct pair :
Column (A)
i) sin?45° + cos? 45°

ii) cot(90° - 0)

i) cos@cos(90° — 0) — sin Bsin(90° — 0)

iv) 1+cot?®

V) cos30°

g)

D - 123

[1x5= 5]

= (9)
0

cosec?0

Column (B)

.l)
cosec-f

(P.T0.)
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6. wEGUGl BT ¥ A B 7 [2]
What is the meaning of similarity ?
_ I1/OR
/A P weTa & ¥ - 9 e § 7

What are the conditions for the similarity of the polygons ?

7. @ W el & oRam e 30 ¥ sk 20 9L 2 ot e P
A T qon A F=E 12 VA @, W g O # AT g B =R
o B | [2]

The perimeters of two similar triangles are 30 cm and 20 cm respectively. If one
side of one triangle is 12 cm, then find the length of corresponding side of other

triangle.
g1/OR

ARG AUE T (Few W) &1 FuE fafEg)
Write the statement of Basic Proportionality Theorem (Thales Theorem).

8. uifu HW f& = 6 ¥/, § ¥A IR 10 /A ww g #
qoe & 7 [2]

Check whether 6 cm, 8 cm and 10 cm are the sides of right angled triangle ?
a1/OR

frw ACB ts waftarg fir & Rmef AC = BC, IR AB?=2AC? @
g PP 5 A ACB & wwaior B €1

AACB is an isosceles triangle such that AC = BC, if AB? =2AC?, then prove
that AACB is aright angled triangle. MPBOARDONLINE.COM

9. fr=falea A=t & wiftgesr sa@ HIfSY - [2]
15, 35, 18, 26, 19, 25, 29, 20, 27.
Find the median of the following values:
15, 35, 18, 26, 19, 25, 29, 20, 27.

| ai/OR
R A @ ow e fafeg)
Write any two merits of Arithmetic mean.

6
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10.

11.

12.

13.

@ U9 F UF IR PP W T A@F IH b WRGar w[ PG| [2]
Find the probability that an even number turns up in a single throw of a die.

Tqi/OR

T fHep ¥ 6 IR 9B 9F W fm AR v e 9™ @ wiem
A $INY | MPBOARDONLINE.COM

Find the probability of getting head and tail at a time in single throw of a coin.

W F FE Y 8 UM H W 309N wEE A oo &R
I @ frear T SR [3]

A chord of length 30 cm is drawn at a distance of 8 cm from the centre of the
circle. Find the radius of a circle.

IJ1/OR
fig Py &, &0 0 @ T g ¥ &R € & W e g adr 2

Prove that, the length of two tangents drawn from an external point to a circle are

equal.
fig oIg &, 90 & & & @ R T $I7 AE ¥ W B ¥ (3]
Prove that, the angles in the same segment of a circle are equal to each other.

q1/0R

Rig #RT 5, Sdqe ™ T BT T e E

Prove that, the angle in the semicircle is right angle.

I ofg Mo X, x + 2, X+ 4, X+ 6, X+ 8 FT AT 11 £ & x T WA
f®1feT | MPBOARDONLINE.COM (3]

If the mean of 5 observations x, x + 2; X+4,X+6,x+ 8is 11, then find the value
of x.

Ii/OR
47, 53, 49, 60, 39, 42, 53, 52, 50, 55 &1 GAGR AEY T PIHT |
Find the arithmetic mean of 47, 53, 49, 60, 39, 42, 53, 52, 50, 55.

7 (P.T.0.)
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14.

15.

16.

frfalRaa ararar dev IR @ ARger @ BT [3]

aYx 41 6|8|10|]12]|14]|16
qReRarf | 2 | 4| 5 (312 1] 4

Find the median of the following frequency distribution table :

Variablex | 4 | 6 | 8 | 10} 12| 14| 16
Frequency f | 2 | 4 | 5] 3|2 1] 4

Ii/OR
wegsr & = P UE A9 faRew)

Write two merits and one demerit of median.

wferemue fafr g frsifafaa wieror e &1 ga il [4]
x+y=7
Ix-2y=11.
Solve the following system of equation by Substitution Method :
X+y=17
3x -2y =11.
g1/0OR

afr AABC % ZC=2/B=/A+/B+20, @ o & ot &= &1 o
PIfAT |

If in AABC, £C=2/B = ZA + ZB + 20, then find all the three angles of the
triaﬂgle- MPBOARDONLINE.COM

ﬁ?ﬁﬁﬂ%ﬂﬂﬁzﬂaﬁa‘}?ﬁﬁsﬁhﬁww—s‘rmﬁ T 39
HFOo AR WA 3 I N o W T8 ‘"E’fﬁﬂﬁTglﬁﬁf'ﬁTﬁaﬂ‘ﬁ?{QI

A fraction become E when 2 1s subtracted from its numerator and 3 is added to its

denominator and on adding 6 to numerator and multiplying denominator by 3 it

-2
becomes *5 . Find the fraction.

IJ/OR
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17.

18.

S HERi P AnT 7 21 A 3T N 3 R BT W [ &), O A
ST Y |
The sum of two numbers is 7. If the sum of these numbers is 7 times of its

difference, then find the numbers. MPBOARDONLINE.COM

: _ 2, .2
ﬁawcﬁwmbﬁﬁﬁaﬁmﬁia:bb=3;cl [4]

az+h2_a+c

If b is the mean proportional of a and ¢ then prove that . .
a

a1/OR

X ¥y z

= W Rig IRT B (b—c)x+(c—a)y+(a-b)z=0|

b+¢ e¢+a a+b

X _y _rz
Ifb+c—c+a—a+bthenprovethat(b—c)x+(c—a)y+(g—b)z=0.

Prefifea wiew #t 93 R ¥ 79 @) [4]
xX*—-5x—-6=0. o
Solve the following equation by formula method.
x2-5x-6=0.
Ii/OR
R a‘,B T T ax’+bx+c=0 F T A, @ g2+ p2 F AN
T BT |

If 0, B are the roots of quadratic equation ax” + bx + ¢ = 0, then find the value of

ol + B2,

9 P.T.0.)
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19.

20.

21.

T WE1 & Ule § 25 WY A g ¥ W § RRR B S aivr 45° 2
He1 B Halg T P

Atapoint 25 m away from the foot of a building, the angle of elevation of the top
of the building is 45°. Find the height of the building.

IJ/OR
60 AR T TSI N DI AR 9 TS OB BT JGART DT 60° B, A

T W F U W Ve o g S #ifae

From the top of 60 m high light house, the angle of depression of the ship is 60°.
Find the distance between the ship and foot of the light house.

gd ¥ 910 P TN @ Orouwvs $1 89%d od iy, e
FET B T Brour muer 60° 76 _W. Fy

Find the length of arc and area of sector of the circle, if the angle subtended at the
centre and the radius are 60° and 6 cm respectively.

IJi/OR
AR 2w, b el @R ¢ FAE T M BT GEEE VS o Wl 7e
1 2|1 1 1
&pa S B, o fag Al 5 v S[a b c]l
If V is the volume of cuboid whose length is a, breadth is b and height is cand S is

I 211 1 1
3 —_— = —_-— — 4 —
its total surface area, then prove that V.S [a b c] .

4 o e 9o e 15 9 & RN amuw § AR W S R man R
THTPR W U9 & WYel U & S9%d S B |

Two cubes each of 15 cm sides are joined end to end. Find the total surface area of
the resulting cuboid. MPBOARDONLINE.COM

ai/OR

8 AW o F g & M & Taex 1 ¥ Browm & Bow Mo
[T Ol gbd & ?

A iron sphere of radius 8 cm is melted then recasted into small spheres each of
radius 1 cm. Find the number of small spheres.

10
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22,

23.

x>-1 . 2x3—x%*+3
3 # o1 91 oy =ee Sier W 6 3 e 8 ? [5]
xX“+2 X“+2

_ _ _ x> -1 2x* - x*+3
Which rational expression should be added to __x2 P to get 212 ?

I1/0OR

TFEve FIRT a®(b+ ¢) + b%(c +a)+ c?(a+ b)+ 3abc.

Factorise a%(b + ¢) + b%(c + a) + ¢*(a + b) + 3abc.

wwmmwwm%%lmmﬂﬁﬁm [5]

The sum of a number and its reciprocal is % . Find the number.

I7/OR
B BIfY |
1/31:2—2 +1=2x.
Solve :

V3xE-2+1=2x.

T 40,000 3 A WRFT FT 10% TEHR W R ¥ 3 q¢ 91§ FT HHA
T U9RT o) 9 | [3]

Find the depreciation and depreciated cost of a motor cycle after 3 years at the
rate of 10% depreciation which costs T 40,000.
I1i/OR

T 2,000 ® 10% ufer 99 wshgle et &1 &R 9 2 o &1 fisme 7 owafy
AT TG DT |

Find the amount and compound interest on ¥ 2,000 for 2 years at the rate of 10%
per annum compound interest. MPBOARDONLINE.COM

11 (P.T.0.)
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25. ww e & wE e Rred qomd 4 68, 6 0 iR 8 [ ¥ | swe
R g9 iR @ $ ug @t fiRAd | MPBOARDONLINE.COM [5]

Construct a triangle whose sides are 4 cm, 6 cm and 8 cm. Draw the circumcircle
of the triangle. Write the steps of construction also.

I/OR
frgst ABC & =1 #IRR R BC = 6.5 ¥, ZA =60° ammi%zm
AD = 4.5 93|
Construct a triangle ABC, in which BC=6.5 cm, ZA = 60° and medianAD =4.5 cm.
26. 9ol & WA By e g FIRl @ [5]

sin 70° + cosec20°

— — 2¢0s70° cosec20° =0
cos 20° sec70°

. =] o] :
Prove it without using table Sm.m + cosec20” _ 2cos70° cosec20°® =

cos20° sec70°

T1/OR
g i 5

I+cosA.+' sinA 2
sinA  1+cosA sinA’

1+cc-sA+ sinA 2
sin A 1+cosA sinA’

Prove that

12



